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(Percent Extraction, % E)

(Percent Recovery, % R)

100 4.1
100
4.2
AE - R X 100 (4.1)
%R = Si— X 100 (4.2)
¢ feed
1 TOA
TOA
(HgCl4z)
43 4.4 RN TOA
HgCl*~ + 2H+ + 2R|N . (RNH)2HgCl4 (4.3)

(R3NH)2HgCI4 + 20H 2RjN + HgCl2- + 2HjO (4.4)
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4.1.1
6.8-7
4.1
4.1
' (ppm)
As(I1) 1.988 ~ 2
Ho(l1) 1.248 ~ 12
Fe(lll) 0.756 ~ 0.8
Mg(l) 2414 ~ 2.4
Cad) 11.64 ~ 116
Na(l) 1022.75 « 10228
4.1.2
TOA, D2EHPA, Cyanex 923, Lix 84-1, Cyanex 272, TBP, Lix 860, Aliquat 336
(Kerosene Jet A-l) TOA
(Toluene)
5 % = 6.8
0.5

30 41
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100
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=68

=5%

1

100

41

Cyanex 923, Aliquat 336
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413
4
TOA, Cyanex 923, Aliquat 336
TOA
' 5%
= 6.8 0.5
30 4.2
100 A N\ = i

o Al
& Ca(l)
= 60 - (1)
=
§ C— Hg(n
i 40,4 B Mg()

. Na(1)
20 -
0 - o I
TOA+Kerosene TOA+Toluene Aliquat 336  Cyanex 923
+Kerosene +Kerosene
4.2
5% - 6.8
[NaOHJs= 0.5 30

4.2
TOA
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414
1,2,25 3,4,5 6 7
TOA 2%
05
100
43 4.4
100
80
ag 60 - — Hy(ln)
g I — Fe(ll
[
£ w0 — Al
20
0 1 2 3 4 5 6 7 8
1 pH voamsazawilou
43 oH

[TOA]@= 2 % /[NaOHJs= 0.5 0f= Q3= 100
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60
50 A
3: 40 A
k- b Hylll)
£ 30 o F(lll)
L T— Al
A= 20 -
“ m
0 ¥ — ¥ Y ¥ ag ¥
0 1 2 3 6 7 8
i1 pH Tuensazawilou
4.4 pH
[TOA]m= 2 % . [NaOHJs= 0.5 Qf= Qs= 100
43 44 pH
pH 25
(John ¢. Kotz Keith
F. Purcell, 1991) pH
pH
2.5 TOA
(Pancharoen et al.,
2005)
pH 2.5

79

48
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415 TOA

TOA 051,152, 25,3, 35, 4,45 555 6%

pH 25 ( 4.1.4)
0.5
100
45 46
100
) //”—‘\V""\/"_‘
& 601 —e— Hg(lD)
§ —O— Fe(Ill)
g 40 - —v— As(lIl)
[
20 A
0 T T T T T
0 1 2 3 4 5 6 7
TOA  Toluene (% )
45 TOA

pH =25, [NaOH]s= 05 Qf = Qs= 100
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60
50 A
40 A
30 - —®— Hg(l)
—O— Fe(Ill)
—¥— As(II)
20 4
10 A
0 1 2 3 4 5 6 7
TOA  Toluene (% )
46 TOA
pH =25, [NaOHJs=05 Qf = Q3=
100
45 46 TOA
T0A 05 2%
(RNH)HgCl4
TOA 2%

(Luccio et al., 2000)



, (Diffusion Coefficient, D)
Stokes Einstein
(Schulz, 1988 Cussler, 1997)

) kBT 5
67T Tjr '
D = (m2s)
T = (K)
= (kg/m )
ro= (m)
e - Boltzmann 13807 X 10'BJIK
71 = Stokes Einstein 3.1416
4.1.6
02,04,06,08, 10, 1.2, 14 16
pH 2.5 (
4.1.4) TOA 2 % (
4.15)
100

4.7 48
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i //.\‘/N_"
60 -
40 -
= O/O\o\—o———’&“—*)‘\o
0 e e TR e, e
0.0 2 4 6 8 1.0 1.2 1.4 16
NaOH ( )
47
pH =25, [TOAIm=2%

= Q3= 100

w et Hg(Il)
0 - Fe(lll)
T—  As(ny
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60
50 -
p //.———A\_‘_)——A
30 -
20
10 -
0.0 2 4 6 8 1.0 1.2 1.4
NaOH ( )
4.8
pH = 2.5, [TOA]m=2%
Qf = Qs= 100
4.7 48
02 05
05

44

16
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417

50, 100, 150, 200, 300, 400
pH 25 (
4.1.4) TOA 2 %
( 4.15)
0.5 ( 4.1.6)
4.9

100

80 -

60 A —_—

40

20 A

0 100 200 300 400 500

4.9
pH = 2.5, [TOA]m=2
% , [NaOH]s= 0.5 Qf = Qs= 100

TOA Resident Time
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100

100

418

TOA 2%

4.16)
4.17)
410 4l

50-100

0.5

4.9

30

4.1.4)

100

4.15)
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4.10 pH
=25, [TOAIm=2% , [NaOH]s= 0.5 Qf
= Qs=100
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%
£ z
l(I)O 1;0 2(‘)0 250
( )
411 o
=25, [TOA]1= 2%  [NaOHJs= 05 of
= Q5= 100
410 411
4 978 502
419
30
o 25 ( 4.14)
TOA 2% ( 4.15)
05 (

4.16) 100 (
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4.17)
412 413
100
. ‘—_’_—‘_‘\‘\__‘\‘\‘
60 -
1 Hyll)
0o— Fell
a0 31— A(lll
- M
30 60 90 120 150 180 210 240 270
=)
412 pH
=25, [TOA]o=2% , [NaOH]s= 05 1 Qf = Q5= 100
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60
50 -
3 40
= b= Hyl
g o =)
; n— Al
= 20
10 +
0 ¥ \ \ Y \ Y T T
30 60 90 120 150 180 210 240 270
(%)
413 oH
=25, [TOAJa=2% , [NaOHJs= 05 Qf = Q5=
100
412 413 120
, 120

120
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421

[(R,NH),HgCl,] (luadodns)

3.7

3.6 1

3.5 4

3.4 A

3.3 1

3.2 A

3.1 1

3.0 A

2.9

414

(Equilibrium Constant, K J
(Distribution Coefficient,/))

212 213
4.14 3383 X 10 (

TOA
052 % 46 |

x 10'6

)4

y =0.3383x + 2.9228

R?=0.9611

T

T 1 T
0.0 5 1.0 1.5 2.0

[HgClLZIH'FIR,N], (lwasedns)
TOA

052 %

63

TOA
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422 (Permeability Coefficient, P)
TOA
TOA 05-2 %
214 215
TOA
0.1-3 % - vfin (0
£
4.15 ip O P
(>+\
4.6 ( -4)
7,000
* [TOA]=05%vly Slope = 128.2 R =0.9753
& 6000 ‘
=2 B [TOA]=1.0% vlv
G Slope = 103.51 R =0.9684
& 5000 7 e [roAl=15%wy .
=  Slope=90.46 R =0.9733
é 4,000 = A ITOAI=2.0%V/V *
<2
- Slope = 82.50 R = 0.96.88
G 3,000
i
$
= 2,000 :
N ,
" 1,000 i
|
0 T T 1
0 10 20 30 40 50 60 70
()
4.1 Vf i (CFI Cf0)
() TOA
pH =25, [TOAIm=2% :

[NaOH]s= 0.5

Qf = Qs= 100
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TOA
0.1-3%
TOA (% viv) D P ( )
0.5 361 X 103 2.5874 X 102
1 7.22 X 102 3.2025 X 102
15 1.08X 102 44541 X 102
2 144X 102 5.9747 X 102
423 (*1)
(*1
(P)
TOA
42 (*1)
*n 2.23
o 1 .
]P PP N 416 ( 3)
[RHT[H]
*
) r I Aexm
1 (*) (
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140
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120
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100 s
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80 -
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1/P G

60 Slope =y = 6.5007x +92.706
40 R’ =0.9434

20

V[RNJZHA2( )4

4.16 1/p URN]IHA2
TOA
=25, [TOAJm= 2% . [NaOH]s= 05
= Q5= 100

416
(K] 0011 1028
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